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Solutions to Example 1:
[image: Graphical user interface, text, application, email

Description automatically generated]
	[image: Graphical user interface, application

Description automatically generated]

· Example 2
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Solutions to Example 2:
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· Example 3
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Solutions to Example 3:
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3/4  We can combine the following quantities:

dollars

0.6
liter
kilometers

liter

_ 06 dollars _ liters
76 liter kilometer

dollars

=01 ——
kilometer

Now we can plug that in the original equation:

150 kilometers 0.1 902 _ 4 ggilars

15dollars = z dollars

4/4 | In conclusion, the price for the amount of fuel that Roselyn will use for the entire drive is 15
dollars.
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s 40 tons of wood, and accommodates
lors. She receives a delivery of 4 tons of wood each day. The deliveries can continue for 100 days at
most, afterwards the weather is too bad to allow them. Overall, she wants to build enough ships to
accommodate at least 2100 sailors.

How much wood does Astrid need to accommodate 2100 sailors?

tons.
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‘There can be many ways to solve this problem. Here, we will do this by thinking about units.

Let's say that Astrid needs @ tons of wood to accommodate 2100 sailors. How can we relate
these two quantities with an equation?

sailors
ton

ztons-y — 2100sailors

Soin order to find the amount of wood @, we need to figure out the value of y, which is the
rate of sailors per ton of wood.

Notice what other information we are given:

sailors.

‘Which of these quantities can help us calculate a rate whose units are

‘ton
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3/4  We can combine the following quantities:

_ 300 sailors_shipg

T 10 ship  ton

sailors
ton

=75

Now we can plug that in the original equation:

2tons - 7.5 2 _ 9100 sailors
ton
2100 tons
xtons = ——. s

 tons = 280 tons

4/4 | In conclusion, to accommodate 2100 sailors, Astrid needs 280 tons of wood.
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Lennox owns 2 big apple orchard. She ships her apples to various markets using a fleet of trucks. Every
week, each truck goes on 3 trips, and for each trip Lennox gets 300 dollars. On a single trip, a truck
delivers 50 packs, and each pack contains 12 kilograms of apples. Overall, Lennox sells 4500 dollars worth
of apples in a week.

How many trucks are in Lennox's fleet?

trucks
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1/4  There can be many ways to solve this problem. Here, we will do this by thinking about units.

Let's say there are z trucks in Lennox’s fleet. We are given that Lennox makes a total of
4500 dollars each week. How can we relate these two quantities with an equation?

dollars

ztrucks-y — 4500 dollars

Soin order to find the number of trucks , we need to figure out the value of , which is the
rate of dollars per truck.

2/4  Notice what other information we are given:

dollars
3

Which of these quantities can help us calculate 3 rate whose units are <=2
rucl
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We can combine the following quantities:

35PT g dollars _ g, dollars
truck Trp truck

Now we can plug that in the original equation:

2 trucks - 900 2 _ 4500 dollars
truck
4500 trucks
@ trucks = oo~ deltars goos

z trucks = 5 trucks

In conclusion, Lennox's fleet has 5 trucks.
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Roselyn is driving to visit her family, who live 150 kilometers away. Her average speed is 60 kilometers per
hour. The car's tank has 20 liters of fuel at the beginning of the drive, and its fuel efficiency is 6 kilometers
per liter. Fuel costs 0.60 dollars per liter.

What is the price for the amount of fuel that Roselyn will use for the entire drive?

dollars
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‘There can be many ways to solve this problem. Here, we will do this by thinking about units.

Let's say it will cost Roselyn z dollars to drive 150 kilometers. How can we relate these two
quantities with an equation?

150 Kilometers - y —SOL2TS_

kilometer

a dollars

Soin order to find the cost 2, we need to figure out the value of Y, whi
per kilometer.

the rate of the price

Notice what other information we are given:

.60 kilometers

§ dollars
'Which of these quantities can help us calculate a rate whose units are -————7

kilometer -




